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e — () T Ul Bl B DI |

Instraction (i) Attempt all questions.

(i) STR H afe mavas BI,ar AT @y Y@= BT GHdS By |

(i) Use diagrams or flowchart if necessary.

(i) Te PHIDG 23 W 26 qH B YA M<IRD fadey oy 77 B |

(iii) In question Nos. 23 to 26 internal options are given.

(iv) U BHIG 1 5 Td ARTAYSTRN U W 1 3k 3rafed g |

(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

(v) I HHIDB 06 W 10 T TSI U § | UAd U W 2 3 AEfed 7| (SR
&I B g — WA 30 ¥R &)

(v) Question nos. 6 to 10 are short type questions. Each questions carries 2 marks.[Maximum word limit of
answer is 30 words. |

(vi) T BHID 119 22 Th AYSIRIT U9 B | TP e W 3 3jd 3Mdfed 2| (SR
&l AAHIH g — WA 50 IR T)

(vi) Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer is 50 words. |

(vii) T hHI®H 23 Th TSI U9 B | 39 U W 4 3d IqEfed 2| (SR al
BT e — AT 75 IR 1)

(vii) Question nos. 23 is long answer type questions. this questions carries 4 marks.[Maximum word limit of
answer is 75 words. |

(viil) T SHHID 24 I 26 TP CTHSTNT U & | UdD U9 WX 5 3 Iefed 2 |
(STR @1 JAferepa 2Tea — AT 150 Ied ©)

(viii ) Question n0s.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word
limit of answer is 150 words.]

e 1.— O @ Uh YIlid & ge7 BT A forRau S g=amrd | 4F auf | U aR g
I~ P & ? 1

Q.1.- Write the name of a tree belonging to grass species, which blows in once at every 50 to 100 years.

Ueq 2.— HIGT UAIhIOIST HeBY & dlee W 498 & INR H fhd MMY] &7 FaRor

Q.2.- Which pathogen in Transmitter in the human body on the bite of female anopheles.

g% 3.— WYWE I D G g 6 BMN BT SUINT BT & 7 1
Q.3.- Which harmon is used in the treatment of diabetic .

U 4.— {5 JBR &1 fORIMAS BT Soer 81 ga1 &, dad Agr gar &7 1
Q.4.- Which type of pyramid is always errect and have enverted .

U 5—FEid F<SHl & IMUERV | HIF—T I qad 8l § 2 1

Q.5.- Which gas is releated by the abilation of carbonic rocks.



U 6.— USRI R I b &1 1 TA1? Dlg &l &I BRI [ARay | 141=2

Q.6.- Amniocentesis is banned . why? write any two main reasons.

U 7.— IUGH BT a8 T ST 219 UG H 3Af&ehar I 81T &, Bl ORI DI
AT 47 BICH B, SGD &l olelol farfy | 141=2

Q.7.- Genetic disorder which takes peace by the addition of chromosomes in 21* chromosome and total
number. of chorosomes is 47 write two characteristios fit .

e 8— SAfUYHH dAHd & gl fagmand fafRkay? 141=2

Q.8.- Write two characteristics of DRyopithecas man.

geT 9— UY[ Yo A WANT Bl oI arell fafert # waram I 930 8 3R
e 141=2

Q.9.- Which is the best method of animal breeding and why used in breeding.

N (N

g 10. S GeHsilal & A9 forRed St fe=feilRad Seurel & arqariies Screl
HERIAT &R & — 141=2

(1) = (2) <R®b 3

Q.10.- Write the name of microbes which help in commercial production of the following.
(1) stanine (2) Buteric Acid

ged 11— R U4 #aT 499 H 9189 <ifiies d&oll <=, a1l Yd dY & YR U

IR forRgu | 1x3=3

Q.11.- Differentiate between male and female human external sexual characters the heads given points.
Skin, Hair,and Shoulder

U 12— UG UE & Y g9l B ©, 97 Blg b DRI §8y | 1x3=3

Q.12.- Generally flowers and multicoloured. why ? write any reason three

UeT 13— R AYARET § 16 UGS BId © Sldidh HIGT AYAIRE H 32 TURIH BT ©
DRI FdATgA? 3

Q.13.- Male honey bee has 16 chromosomes where of female has 32 chromosomes give reasons.

g 14, TFTSTRET & T FeI0ll & YR UR YeAe a¥f b1 FHI01 BT | 31l
SiFIeIgy U4 fhArergy Irurd A1 foriey | 1V541%=3
TSl Qe (YY) Wb O (JIYHT)

Q.14.- Prepare a punnet square on the basis of characters given below. Write genotype and phenotype ratio
too.

Red flower (Dominated) White flower ( Recessive)
U 15— HAGII Pl ISR GhR FHSATSY ? 3
Q.15.- Explain analogy with examples.
g 16.— AT IRARRIAT FIT 87 $UD dlg ol BRI forlRaw? 142=3

Q.16.- What is mental disability ? write its two reasons.



g% 17— HARMET § 3 Uoi= ¥ F7 B 8, fTRau g9 b YR et ST el
g | 3

Q.17.- What is the harm in cattle by interbreeding write how it can stop in cattle.

Ue 18— U 21 Wl & Jdd bl I§ Udl doldl & b IAd uifde Ol H<T HAR

J 9% Yad Ig @1 fhw S & MMER WR R @l & | AP e quie
BT | 1+2=3

Q.18.- A yong (Youth) of 21 years old came to know that his biological father was sandeep kumar. On what
ground that youth is claming. Describe in brief about the method.

U 19— A & US TR RIS DT UIYT SAl & S &I S &I IRWRS fhar &l
quie BIfsg ? 3

Q.19.- Cuscutta (Amerbel) grown over neem plant. describe the personal relation process between them.

U 20— QATdel B G H B S el Mferarel ¥ BT UBR & Uyl BNl ©
4% Yqudh Afed Uquul & M fofy ? 3

Q.20.- How many types of polulation are created by fire crakers in the festive mood of Diwali. write the
main polution and other polution names.

~

gee 21. fefeiRad wmHl § U W9 dTdl e Serl & A faRau — 1x3=3
(1) f9ER g & el f7el |
(2) STRMEUS & A-irdrel & U |
(3) affrerTe H I=13 & U9 |
Q.21.- Write the names of nationl parks found in the following places.
(1) In palamu district of Bihar State.

(2) Near Nainital of Uttarkand.
(3) Near Chennai in Tamil Naidu.

Ueq 22— SlAllgg el & o9 MR 3rdherd forfRay ? 1x3=3

Q.22.- Write three habetual adaptative features of hydrophyles.

ged 23— SLUAU. PIRDI fSeell | A€l Yok Hbdl &, Sar] HIfRIbT bl Sl T,
oM TG A& 99 & fog 7 fhar S €7 derg # wWsied | 4

Q.23.- D.N.A. can not pass through cell- membrane. what is being done with bacterial cell to accept D.N.A.
Describe in brif.

3rdT (oR)
SI. T Bl Yk TY W JaHd B =g Bls AR U eIy |

Write any four methods to get free pure D.N.A.




Ued 24— U&Y SFAGH BT AHIfhd NG I Id] T ART BT U W i
SIRCI 2+3=5
() A=eIell PIRTdT (i) forfSwT Pifrarg (iii) TEhaTED

Q.24.- Draw a labelld sketech of male reproductive system and write one main function of following part.
(i) Sartoli Cells (ii) Leyding cells (iii) Vasdeferens.

31IT(OR)
ferfay |

() PIu® (i) STeelNI (31TelR) (iii) SIS
Draw a labelld sketech of female reproductive system and write one main function of following part.
(i) Infunda bulam (ii) Fimbreae (iii) Ovary

Ueq 25— JH Hadd H OBl 3.PbIels gits B VT &1 odelol Sleld UR dld— AU
IAURT ar g1 dd HHl Hae # olgeisl STal Sl & ol — 3MURA B Hel
T §8 PN odl 57 5

Q.25.- In the medium where E. coli was growing lactose was added which indulge the lac operon. Then

why does lae operon shut down some time after addition of lactose in the medium

3frdT (0R)
AT TUT I §RT 30 Doy R fbd T aedwRell Hfaad & YA o
o afea faRag |

write the semi conservative experiment of E.cole conducted by MESELSON and STALL with
diagram.

Ue 26— $HY URWRSD BIRNIG @ AR Sl T, Adel, TAT I41 ¥ gd 8, 54
GeASIdl BT YAN A 8 S99 AW qaid Ud B U & g9t B faaRo
forfeay 2 5

Q.26.- Name same traditional chattisgarh foods made of wheat rice and gram which invalve the use of
microbes Describe one of them method of its preparation.

3174 (0R)
by AMBR & ddcid IAFl dFIRTT fedr € g9 IR of¥uS SYANN bl faawor
JIRgu ?

In which food would you find lactic acid Bacteria mention any four useful write applications.

0000
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Instraction (i) Attempt all questions.
(i) SR ¥ fe aeysd gl =l rrar NE@IeEi dr FHIdel STy |

(ii) Use diagrams of flowchart it necessary.

(i) e SHHID 23 H 26 Ab & YAl ARG fdded Ay 1Y & |

(|||))In question Nos. 23 to 26 internal optlons are given.

(iv) U1 BHIG 1 9 5 T TgSaId Yed W 1 3fd AEfed 2|

(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

(v) o9 HHIw 06 H 10 Ad AT U ¢ | TS U W 2 AP AmEfed 7 |
(STR @7 AfTHAA 2req — AT 30 IR &)

(v) Question nos. 6 to 10 are very short type questions. Each questions carries 2 marks.[Maximum word limit
of answer is 30 words.]

(vi) T BHID 119 22 Tb AGSIRII U9 B | TP U9 TR 3 3@ IMEfed 2| (R
@l 3ffhan eed — T 50 IE B)

(vi) Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer is 50 words.]

(vii) T HHIG 23 Th SIS U9 B | 39 U W 4 3d IEled & | (SR A
31ferepe Wes — HHAT 75 < B)

(vii) Question nos. 23 is long answer type questions. this questions carries 4 marks.[Maximum word limit of
answer is 75 words.]

(viil) T SPHID 24 I 26 TP SIHSTNT U & | TP Y99 WX 5 3id IEfed 2|
(STR @ AfeTHaA 3eq — AT 150 IR &)

(viii ) Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word
limit of answer is 150 words.]

Ued 1.— IRE 99 H YO Iq~ B+ dlel g&7 BT A Iy Sl el vd affierdrg,
aﬁqﬂ%ﬁﬁww%‘
of that tree

N1 =‘7v1f
Y- ! [

VY

=)
—_

v ul name

U 2.— AeINAT I A 5 favel ugred &1 Jad 9 Jfdd o7 giem 87 1

Q.2.- Which toxic substance is get free The blood during Malaria disease.

Ued 3— HYHE T B e 2g 5T MM BT SUART BIAT ©, S9PI A1d fHa
SEIE R ISR RITCI 1

Q.3.- Write the name of man made hormone which is used a dibeitc disease.

U 4— b aRRefde T3 @1 w1 &1 fRife Ieer 94T B | 1
Q.4.- Which Eco system of number pryemid in forms in verlid.
U 5— el UG SIAred S8 & Slef™ ¥ oI A 9 gad il 2 | 1

Q.5.- Which get in evolned duty the burning of wood of fossi is fuel.



Ue 6.— YRA H MTP Bl &d B AT AT 3R Ff | 141

Q.6.- Why and where MTP is legalized in India.

ged 7.— QA A9 BT o1 forRay {7 22 ifelT qurgs & A1 xXyz g 2
B B, 99 [deR &1 M faRkae | {99 98 difsd & |

Q.7.- Write the sex of human in which XXYZ chromosomes are present with 22 autosomal
Chromosomes.and write in man of the diseases by wich he is suffer.

U 8.— BIISYICH UdbHI~H @l & Y4 fa=ivany forfay | 1+1

Q.8.- Write two main charateristic of Hemoerector Pekinenses.

U3 9— il T 82 SHBI Ub decd forf¥gu? 141

Q.9.- What is Scaling write its one importance.

e 10— I GeHSIdl & AW gAY Sl (=feRad ITel & aAried Sdra

HEMIAT B 8° 141
(1) ufifferas (2) fafes el
Q.10.- Write the name of micro-organisms which help in the commercial producton in the following.
(1) Peniecilam (2) Citric Acid
Ue 11.— Rd¥Ad dsb Ud Hadsh ¥ Bl di- Iy farfgy ? 3
Q.11.- Write any three differences between menstaral and oestrus cycle
U 12— STol URITY] gRT WRIAT Gl & i ol faeyang farfgg? 3

Q.12.- Write any three chareteristcs of the flowers which are pollinater by water.

U 13— SILU9. 9FF g7 faU TU Wgo=dl & YA & oI fshy forffgu 2 3

Q.13.- Write any three conclusion of experiment of linkage conducted by T.H. morgan.

ged 14— fmferRaa fAU g <tefoll & 3MgR IR Yo Thdr dl i SIfsg ?
QRISEISRCCIC) (2) 3RER IS ( Ay
§PT SIHICIgY Ud Widiergy 3rurd A1 ferfday |
Q.14.- Prepare a punnet square on the basis of following characters.

(1) Round seed (Dominats) (2) Wrikled seed ( Recessive)
Write there Genotype and Phenotype ratio.

U 15— AHOIAAT DI IGI8R0T Ths TAgY ?

Q.15.- Explain homologous with examples.

U9 16.— TSI SIHIHRUT HRIHH T AMaH 8, 39P al BRI forlRgu ? 3
Q.16.- Why National Vaccination Project is important. write its two reasons.

g 17— IfQ dex BT sl df TR &1 At o 1 oI Ui OR a1 gvTd
g ? fad=aEr Pifeie ? 3

Q.17.- What will be effect on pea plant in its nodulated roots are destroyed. explain it.



g 18— fhdl Vol gHeAl & SR 3 ATH a4 AD Siel MY b I2 ugar
A1 IS B AT, IW IMYFDH dhilh DI TH FAST TAT IHDBI qUi 4l
By RS FEraar ¥ S 99 S ReISRI Bl | 7 9 | 142

Q.18.- A number of passenger were severely burnt beyond recognition during a train accident name and
describe a modern technique what can help to hand over the dead bodied to their relatives.

U 19— 3Nfdhs Ul AN & US &1 ITET WR 3T <& &, 3Mfhe 3R 75 & U
@ dra URWRE {haT B quiF HIfoTg ? 3

Q.19.- Orchid plant in growing over the twig of “ MAHUWA Tree “ explain the natural process between
orchid and mahuwa tree.

Ueq 20— Hold JaAI Ud gHd! g gfd & Iuyrg forlag ? 3
Q.20.- What is Ground water deprectiation and what are effect of this redeprectiation
g 21— Ffeiad Ml § Uig S qrel SRIRON & A1 fofrg ? 3
(1) TIRTTEE STt H |
(2) TR e H1

(3) Fellel— IR o7 # |
Q.21.- Write the name of sanctu found in the following places.
(1) District Gariaband (2) District Baster. (3) District Baloda- Bazar.

U 22— HwaRIg Ul @ T AT e fafkgy ? 3

Q.22.- Write any three habitate adaptation of xerophytic plants.

U 23— i UenNfrdl & YA § BIfSdT &l 7 Hed ' 917 Sl &, VAT 6 |
Cat+ 9 UPR TEIAT BT © | 4

Q.23.- In the experiments of biotechnology the cell is made ~'component” white doing so how Ca++ helps.

317dT (0R)
Sig grenfireT g | Sa et (SiE) 19 7 @l g Ry ?

Write the role of biolistic of gene-gun in the experiments of biotechnology.

Ueq 24— Udb YRUFT YT BIY BT A NG qIhx 74 WRT & U Y9 b1
forfdgy 2 5
(1) 3vs
(2) figda® d=h
(3) HE® BIferd]

Q.24 .- Draw a labeled sktech of mature embryo sac and write one main function the following
(1) Egg (2) Secondary Nucleas (3) Synergids

34T (oR)
Uh YW & odddd PIc DI AHIfdbd ARG IR 1+ ¥R BT T YqE DRI
ISIECI
(1) URITYT AAfoTdhT
(2) afdemr
(3) UNITHIT
Draw a labeled sketch of longitudinal seation of a flower and write the one main funtion of the

following :-
(1) Pollen- Tube (2) Stigma (3) pollen grain



W25.—tﬁﬁ€ﬁ\_ﬂa—|ﬁ?’lﬁtﬁ€f(YyTt)WW@WWﬁm(nyt)ﬁW
R = # 9 5 PR & BIFIeISy Hafd & e @ o A ®,
referRaa o wwer W forldgy ? 5
(@) ofd & (@) 99 &

Q.25.- Which Type of Phenotype generation is possible if yellow seed and tall plants and crossed with green

seed and long plant (nyt) . Write their numbers also .
(a)Long green (b) Dwarf green.

312rdl (oR)
R3] #1 SR af ‘0’ 8, far &1 SR a7 ‘A’ ¥ 3fR Aar @1 $R o f B g,
STFeh] T SIFICTSY AT N Ud 3 Hdfd H YA SiiFIegy &l SN
a9 |
A child has blood group ‘o’ . if the father has blood group ‘A’ and mother blood group ‘B’ work out
the genotypes of parents and the possible genotypes of their other offsprings.

e 26— fhal Ufd B9 & GhY bl b1 A 9digy, 5wl e gRday ¥

T3 2 | 5
Q.26.- Name any five hybrid varieties of crop plants which have been developed in India.
31dT (oR)
AT gfeRIgd Bl Ui &R & Iy ¥d & g1 ST fha S+ drd
faf= =_vif @1 wm @ faRkay |

Write down the various steps which are used by formers to cultivate pest resistance crops.
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